



الف)  $2 \times 2 = 4$
 $\frac{1}{2} \times 2 = 1$
 $10 + 1 = 11$ ✓
~~...~~

ب) $10 + 1 = 11$ ✓

الف) $10 + 1 = 11$ ✓

ب) $10 + 1 = 11$ ✓

الف)  $2 \times 2 = 4$
 $2 \times 4 = 8$
 $10 + 1 = 11$ ✓
 $10 + 1 = 11$ ✓

ب) $10 + 1 = 11$ ✓

الف) $10 + 1 = 11$ ✓

ب) $10 + 1 = 11$ ✓

الف) ~~...~~ $S = \frac{\pi}{4} \times \frac{1}{2} \times 9 = \frac{9\pi}{8}$ ✓

ب) $\frac{\pi}{4} + \frac{\pi}{4} + \frac{\pi}{4} \times 2 = 9 \times \frac{\pi}{4}$ ✓

الف) $\frac{5 \times 8 \times \sqrt{2}}{2} = S = 10\sqrt{2}$ ✓

ب) $BC = \sqrt{20 + 40 - 10 \times 8 \times \frac{1}{2}} = \sqrt{40} = 2\sqrt{10}$

ب) $7 + 5 + 8 = 20$ ✓

$\frac{10}{\sin A} = \frac{10\sqrt{2}}{\sin B} = \frac{AB}{\sin C} \Rightarrow \frac{10}{\frac{1}{2}} = \frac{10\sqrt{2}}{\frac{\sqrt{2}}{2}} \Rightarrow B = 45^\circ \quad C = 45^\circ$

ب) $\frac{\pi}{4}, \frac{\pi}{4}, \frac{\sqrt{2}\pi}{2}$ ✓

$$\frac{-\tan \alpha + \cot \alpha}{-\tan \alpha - \cot \alpha} = \frac{\cot \alpha}{-\cot \alpha} = -1 \quad \checkmark$$

(y)

6

$$\frac{\gamma \tan\left(\frac{\pi}{r} - \frac{\pi}{rc}\right) + \tan\left(\frac{\pi}{r} - \frac{\pi}{rc}\right)}{\cot\left(\frac{\pi}{r} - \frac{\pi}{rc}\right) + \tan\left(\frac{\pi}{r} + \frac{\pi}{rc}\right)} = \frac{\frac{\gamma}{a} - \frac{1}{a}}{-ca - \frac{1}{a}} = \frac{-1}{ca+1}$$

(1, VO)

7

$$\frac{\sin^2 \alpha + \cos^2 \alpha + \sin \alpha \cos \alpha + \sin^2 \alpha - \cos^2 \alpha - \sin \alpha \cos \alpha}{\sin^2 \alpha - \cos^2 \alpha} = \frac{\gamma}{\sin^2 \alpha - \cos^2 \alpha} = \gamma$$

8

$$1 + \tan^2 \alpha = \frac{1}{\cos^2 \alpha} \Rightarrow \tan^2 \alpha = \frac{1}{\cos^2 \alpha} - 1 \quad \checkmark$$

(y)

$$e \sin^2 \alpha + \cos^2 \alpha - e = \sin^2 \alpha - \cos^2 \alpha + 1$$

(y)

$$\cos^2 \alpha + \cos^2 \alpha + \cos^2 \alpha = 1 \Rightarrow \cos^2 \alpha = \frac{1}{3} \Rightarrow 1 + \tan^2 \alpha = \frac{1}{\cos^2 \alpha}$$

9

$$\Rightarrow \tan^2 \alpha = \frac{2}{3} \quad \checkmark$$

$$\cos(45^\circ) = \sqrt{\frac{1 + \cos 90^\circ}{2}} = \frac{1 + \frac{\sqrt{2}}{2}}{2} = \frac{\sqrt{2} + \sqrt{2}}{2}$$

(y)

$$\sin(45^\circ) = \sqrt{\frac{1 - \cos 90^\circ}{2}} = \frac{1 - \frac{\sqrt{2}}{2}}{2} = \frac{\sqrt{2} - \sqrt{2}}{2}$$

10